
2
2

8

NylonJET COMPUTER MOUNT Top + Bottom Part, incl screws (M4x12, M3x8) Black

Ricambi/Spare Parts 
Jet One

↓ Art ↓ Deda Part Code ↓ Description ↓ EAN13 Code↓ Material ↓ Finish

01A

04A

08

10A

03B

05

10C

01

03D

07

02

04B

09

03A

10B

03C

06

JETPADKIT

JETMEDIUMPOB-L

CLAMP01

JET Armrest Pad Kit (1 set, pads + 3K carbon sticker), Black, Lycra + Foam

JET Carbon Extension, MEDIUM (370mm), LEFT, POB finish, 1 pc

JET ONE Clamp, 6061 Aluminum, 1 set (2 pcs)

JET1PLATE

JET1BRIDGE-L

JETMOUNT

JET ONE Upper Plate, 6061 Aluminum, incl. M5x12mm, 1 set (2 plates)

JET ONE Bridge, 6061 Aluminum, LEFT, 1 pc, incl. M4×12 screws

JET COMPUTER MOUNT for Garmin, Wahoo, Bryton, Nylon, Black

JETSMALLPOB-R

INSERTMOUNT1

JET Carbon Extension, SMALL (340mm), RIGHT, POB finish, 1 pc

BRYTON Insert for Jet & Vinci Computer Mount

JETMEDIUMPOB-R

PARARISE15

JET Carbon Extension, MEDIUM (370mm), RIGHT, POB finish, 1 pc

15mm Stack Spacer, Nylon, Black, 1 set (2 pcs)

JETSTICK

JET1BRIDGE-R

JET1SPACERSKIT

JET Cover, 3K Carbon Stickers (1 set, 2 pcs)

JET ONE Bridge, 6061 Aluminum, RIGHT, 1 pc, incl. M4×12 screws

JET ONE Armrest Stack Spacers Kit, includes 16 bolts

INSERTMOUNT GARMIN Insert for Jet & Vinci Computer Mount

JETSMALLPOB-L

PARARISE30

JETMOUNTXM

JET Carbon Extension, SMALL (340mm), LEFT, POB finish, 1 pc

30mm Stack Spacer, Nylon, Black, 1 set (2 pcs)

8052783488829

8052783488713

8052783488782

Lycra + Foam Black

Black

Black

8052783488805

8052783488737

8052783488843

Aluminum

Aluminum

Nylon

Black

Black

Black

8052783488683

8052783489710

Carbon

Nylon

Black

Black

8052783488706

8052783488775

Black

Black

8052783488836

8052783488720

8052783488799

PU

Aluminum

Alu. + Nylon

Black

Black

Black

8052783488867Nylon Black

8052783488690

8052783488768

8052783488850

Carbon

Carbon

Carbon

Nylon

Nylon

Aluminum

Black

Black

↓ Bolt Type ↓ Spacers

15×40 mm

15×70 mm

15×25 mm

15×55 mm

A + D

A + D + B

A + D + C

A + D + B + C

01

01A

08

04A

03A
03C

03B
03D

05

06

07

04B

01A

01

09
10A 10B

02A

10C

A

B

C

D

E



2
2

9
C

at
al

og
ue

 2
0

2
4

S
p

ec
ifi

ch
e 

te
cn

ic
he

 e
 p

ar
ti

 d
i r

ic
am

b
io

/T
ec

hn
ic

al
 c

ha
rt

 a
nd

 s
p

ar
e 

p
ar

ts

Ricambi/Spare Parts 
Jet Two

↓ Art ↓ Deda Part Code ↓ Description ↓ EAN13 Code↓ Material ↓ Finish

01A

04A

02

05B

05A

05*

06A

03B

06C

* Disponibile separatamente/Available separately

01

03D

04B

06

03A

05C

05D

06B

03C

JETPADKIT

JETMEDIUMPOB-L

JET Armrest Pad Kit (1 set, pads + 3K carbon sticker), Black, Lycra + Foam

JET Carbon Extension, MEDIUM (370mm), LEFT, POB finish, 1 pc

JET2LWPLATE-L

JETMOUNT

JET TWO Lower plate, 6061 aluminum, LEFT, 1 pc          

JET COMPUTER MOUNT for Garmin, Wahoo, Bryton, Nylon, Black

JETSMALLPOB-R

JET2SPACER

SP03B

INSERTMOUNT1

JET Carbon Extension, SMALL (340mm), RIGHT, POB finish, 1 pc

JET TWO spacer, 6061 aluminum, 1 pair

SEATPOST END-NUT, 1 piece (Cross 25mm, Peak, JET TWO) - Black Finish   

BRYTON Insert for Jet & Vinci Computer Mount

JETMEDIUMPOB-R JET Carbon Extension, MEDIUM (370mm), RIGHT, POB finish, 1 pc

JETSTICK

JET2LWPLATE-R

JET Cover, 3K Carbon Stickers (1 set, 2 pcs)

JET TWO Lower plate, 6061 aluminum, RIGHT, 1 pc   

JETPLATE

JET2LWPLATE-LN

JET2LWPLATE-RN

JET2EVOKIT

INSERTMOUNT

JET TWO Upper plate, 6061 Aluminum, 1 set (2 plate) incl. M6x20 screws and nuts

JET TWO Lower plate, 6061 aluminum, LEFT, 1 pc (incl. M6*20 & nuts)

JET TWO Lower plate, 6061 aluminum, RIGHT, 1 pc (incl. M6*20 & nuts)

JET2 EVO kit, including plates (R+L), spacers and spherical nuts

GARMIN Insert for Jet & Vinci Computer Mount

JETSMALLPOB-L

JETMOUNTXM

JET Carbon Extension, SMALL (340mm), LEFT, POB finish, 1 pc

JET COMPUTER MOUNT Top + Bottom Part, incl screws (M4x12, M3x8)

8052783488829

8052783488713

Lycra + Foam Black

Black

8052783488751

8052783488843

Aluminum

Nylon

Black

Black

8052783488683

8052783489710

Carbon

Aluminum

Steel

Nylon

Black

Black

Black

8055774363037

8055774361118

Black

8052783488706Black

8052783488836

8052783488744

PU

Aluminum

Black

Black

8052783488812

8052783488867

Aluminum

Aluminum

Aluminum

Aluminum

Nylon

Black

Black

Black

Black

8055774363051

8055774363044

8055774363921

Black

8052783488690

8052783488850

Carbon

Carbon

Carbon

Nylon

Black

Black

03A
03C

05A

04A

05B

04B

03B
03D

05*. Kit disponibile separatamente. Compatibile con  
manubri con interasse viti differente da 30 mm.
05* . Kit available separately. Compatible with  
aerobars with bolts distance different than 30 mm.

01

06

06A 06B

01A

06C

05D

05C

02


